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1. (10%) 	~t.m 

A. 0101101 h+0010010h = 	 ? 

B. 6BCDI6+159F16= 	 16 

_____1,6A. -13210 
B. 681Oi¥] 2'fm~=_____16 

3. (20%) 	~'ftrf)iU~~~*1E 
A. (36.5)10 =( 	 )2 
B. (011100.1l0h=( )10 
C. (10101001010.011110)2 = ( )16 
D. (1316.25)8= ( )16 

4. (20%) 	~tf:rl')iU~1tf:1'£~t.~*Mc9JB"JJj]~E " 
A. Flash Memory 
B. DRAM 
C. ALU 
D. Control Store 

5. (20%) ~-'n?!l C 8"Jfj~ , EEiiltlIiMtl/\ w, x, y, z [g11?!1~~ , f!,\1&~t. w ~ x iL 
~;g~ A P.. w.~ x ~~~ b ')t:W b fi:TI*iW*? a Wb t§~~1J? :§UEIJlli 
a ~ b J;JN'Jipj1l?!lr~'~8"Jtt~ " 

6. (20%) 	~-M C i¥]tj:rt ,~t~~~ y= f(x) 7x 5 -8W - 2ex + 23.4 ,1'£ x= 2­
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